B A ETRAE T

3. A TH AR T B i

g LHIRE 1] A AR BIILL 20X 0 4 A5,

PAZE I A 20 X0 SR 554 R AHE B . Ak b

PR R A T 0 bk, 7R AR D se e i 8 2 BRI H AR B 0 B, AR DO ARSREAT T A 4

o
A N aE|FEEENVIRN 1 000 J3 TG,

A X AR M 55 B R T

I H T
B sA /BN 70%
BRI BB /BN YSON 5%
HEE B BN 80%
VA=AV N 40%
i %5 F) B2 6%
FrA3 A 2 25%
/NS < i e Hfr:
JG
Ay A 20X 1 20X 2 20X 3 20X 4 20X5
AN 1 000 1 120 1 232 1 330.56 1 410.39 1 480.91
=24 %N 784 862 931. 39 987. 28 1 036. 64
B A 2L B 56 61.6 66. 53 70. 52 74. 05
BT E R 280 308 332. 64 352.6 370. 23
2B RE B3 A 70 77 83. 16 88. 15 92. 56
SRk =E N 210 231 249. 48 264. 45 2717. 67
AT 96 89. 6 78.85 63. 87 56. 42
SEARIR 4 114 141. 4 170. 63 200. 8 221. 26
BiEFE 2 H 20. 16 22.18 23.95 25. 39 26. 66
A 48 44. 8 39. 42 31.93 28. 21
JEEA I 4 & 141. 84 164. 02 186. 1 207. 12 222. 81
PL 20X 1 49

EOIEAN=1000X (1+12%) =1120 (J375)

EAVAR=1120X70%=784 (JjJ0)

BEMEER A =1120X5%=56 (J3J0)

BT 28 F)iE =1120-784-56=280 (Ji70)

22 FE T3R8 =280 X 25% =70 (J375)

B a4 8 5 A)iE =280-70=210 (H75)
SRR =R & B R R A8 T

HEE BN =2 R &8 7 X BN K ZE =1000 X 80% X 12%=96 (J370)
. 20X 0 FEFLE B =1000X80%=800 (JiJG)

20X 1 A E R =1120X80%=896 (J57C)

20X 1 A B B N =TS & 8 B A i RS & B %7 611 =896-800=96 (Jii0)
SEARE G B =G B R R 408 8 in=210-96 =114 (JiJ0)

& BLE i i =5 FILUE 9% -4 e

FiJa A B =1120X40% X 6% X (1-25%) =20.16 (JI0)

H AT N =515 T OCEDII AN K = 1000 X 40% X 12%=48 (J375)
aY, 20 X 0 FE§ H1f5i=1000 X 40% =400 (J375)

20X 1 4E{ 55 =1120 X 40%=448 (Ji75)

20 X 1 5 U IN = B U A - SR Ui A 1 = 448-400=48 (JiJ0)



R SR E =58 2% -4 A6 In=20. 16-48=-27.84 (Jiit)
A &R E =M ERE- RS UERE=114- (-27.84) =141.84 (Jijt)

¢

4. 45T SEEL e R KR
FERERET, SRIeRE. BBEEREME IR FME, Fik, 7TRUREH S KR A T
EMEERKE,

(3R7R ) IRAESE G- BEAL, JR SR B B R AR 2 T2 M2 B i) 40 SO AR . I SRAN 18 B ik
HE, EMATHER R KRB 2%-6%2 [0,

(-2 ] FHCT M ETE A RE S, Efra ¢ D .

A I AT AT AR AR 10 A S AR 48 5 I < S AR ) A7 )

B. SEARII B B A Al AT SR ARG A B AR B N O S5 I < 2 A

C. 7EASE RS N LA SR B KR —RAE T E WG K E

D. FEASE R T BRI S B R — A E T E W IAIG K&

HZ: AB

filetiT: FEREIRE N BRI GREIG KR RPN &R BN KRETE VIR G KR,

(=) BRI U 5
1. AU i AR Y

PR KRR . TR K

kg IR
BB = o e

(327 ) 7R S KA R R g 51 R R B K30 0, BRI

ko gt F IR
BB = s

KB

K EIPIABBL, 8 S A BURA K S K RHE
AU = PEER TN + 5 S e
= VEYH TN A i S BUE + )5 UYWL e B HUE

P B KA
g_lj‘

(475 2] B AR — M BECKEE E AR, Hrkh TR R, HEKER 6% 20 X0 FAR RN
SEN 2.5 70, EAANIRAUR A RA N 10%. iETHEZ L 20 X 1 FEY) R ABNME .
B, 20X 1 FENIEIRIAUME=[2.5X (1+6%) 1+ (10%—6%) =66.25 (7G/H)
(68 3) C AT KA, BEAMEFRMMNH. Fiit 20X 1 FE 20 X5 FEERBILERE
WRFTR, H 20X6 Fdk N KR, KL KRN 3%, AT A A 12%.
FR: THEH TR AUNME .

C 2 m B AL A

A 20X 0 20X 1 20X 2 20X 3 20 %4 20%5 20%6
/=5 B
BRI AL
o 1.003 1.2 1. 44 1,798 2. 0736 2. 4883 5.1011
e
ey
TR 0. 8929 0. 7972 0.7118 0. 6355 0. 5674
(12%)
VEAE T
6. 1792 1.0715 1. 148 1,93 1.3178 1.4119
A E
Ty
JRERT | o) 1506 56. 6789
=
AN E 38. 3388

TE L PN A I I B v B A
ey RIS,
_Z“1<um&%$&¢>t
S AR I AU S B AE 20 X 5 R PIMME = J5 L — F R AR SR E ~ R A A -7k L1

=6.18 (7u/I%)




K#) =5.1011+ (12%3%) =56.6789 (Jt/H%)

J5 G2 IR A I 42 B B =56. 6789 X (P/F, 12%, 5) =56.6789X0.5674=32.16 (J0//&)

B AU =32. 16+6. 18=38. 34 (JT/JI%)
2. SEAKEN G-I S AR A

AKERIERAR | SEARME = NS R/ OIBCT 2 B B 7K S8 K %O

SEAAA = VEAR T + J5 22 fE

W B gy | TR o . e
S — PRI SR B 4 7 B DA + 5 B S AR 4 i LA

(1 4 D 2RI 20 X1 FE 5 20 X5 LRI BB IR TR, H 20X6 FIHAFEHORE, KEHH
KA 5% M FTINBCF I BEA A 1%, 20X 6 4F & LUG A BEA AR )y 10%. 5155 AR iiin i E 4

650 JiJG, WA METRER T 12 o, BRSNS IE A 1 000 Fi .
SR T H BT IR, TR EE A T I A A T .
D A b A B AU E

FEAy 20X 0 20X 1 20X 2 20X 3 20X 4 20X 5 20X 6
SEARINL 4
*ﬁgiﬁ o 614 663. 12 716. 17 773. 46 835.34 | 1 142.4
B
A A 11% 11% 11% 11% 11% 10%
IR 0. 9009 0.8116 0.7312 0. 6587 0. 5935
TN E 2 620. 24 553. 15 538. 2 523. 66 509. 5 495. 73
Ja SN E 13 560. 29 22 848
SEARNE 16 180. 53

TEAN P EA S AR IS A =2 620.24 (FGon)

Ja S IASEAR I S A 20 X 5 R NE

=1 142.4-+ (10%-5%) =22 848 (Jijt)

Ja S IASEAR I I A 20 X 0 SR ILE

=22 848X0.5935=13 560.29 (JiJG)

SEARAE =2 620. 24+13 560.29=16 180.53 (}57G)
JEAUME = SEARIME—1$51 55 (A

=16 180.53—4 650=11 530.53 (FioT)
RN =11 530.53-+1 000=11.53 7o/
ZICEE BRI AR 12 78, Frblediiget 1.




